Answers (Factoring Polynomials)
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x> —25=(x—-5)(x+5)
9x? —16 = (83x —4)(3x + 4)

9 , 3 3
— X" =49 =(=Xx-T)(=x+7
e Ex=NEx+7)

7x? —14x = 7x(x - 2)

36y° —121=(6y —11)(6y +11)
5k? — 20 = 5(k — 2)(k + 2)

5x® — 20X = 5X(X — 2)(X + 2)
15t° —60t* =15t°(t — 2)(t + 2)
9w? —25 = (3w—5)(3w+5)
5t° — 20t* =5t°(t — 2)(t + 2)
x> —8x—20 = (x—10)(x + 2)
x? —x—20=(x-5)(x+4)

X% +21x+ 20 = (X + D)(x + 20)
x> —12x+35= (X -5)(x—-7)
y? —4y—21=(y-7)(y+3)
y* —5y-24=(y-8)(y+3)
k? +4k —45 = (k + 9)(k —5)
k? +3k —40 = (k +8)(k —5)
w? + 2w —63 = (W+9)(w—7)

W2 +16W+63 = (W+7)(W+9)
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3x* +8x—11=(3x+11)(x—-1)

5k + 3k —8 = (5k +8)(k —1)

10y* -3y -7 =(y -0y +7)

3y -8y —11=3y-11)(y+1)

5k? —3k —8 = (5k —8)(k +1)

5y -3y -14=(y-2)(5y +7)

3y? -5y 50 = (y—5)(3y +10)

3x* —4x—4=(x-2)(3x+2)

Ax? —5x—9 = (4x - 9)(x +1)

6x? —5x—14 = (x—2)(6x +7)

x® +10x% + x+10 = (x +10)(x* +1)

x® —10x% —x+10 = (x —10)(x —=D)(x +1)
2x° +12x% +3x+18 = (X +6)(2x* +3)
2x% +6x* —5x—15= (x +3)(2x* —5)

5x® —10x* +3x—6 = (x — 2)(5x* +3)



